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A 9,485,437 9,463,387 22,050
700 AtgHIE 9,485,437 9,463,387 22,050
710 FgHIE 9,485,437 9,463,387 22,050
751 Y2y 988,437 966,387 22,050
100 QI7H| 537,807 537,207 600
101 QlAH| 537,807 537,207 600
02 7|ERREL 96,348 95,748 600
Odraae| ¥egzt 25 600
A 50,0009 x 1 x 12¢& = 600
200 =7 150,630 129,180 21,450
201 LRI 51,500 50,290 1,210
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170,000 x 7H x 13| = 1,190
02 352G 6,560 6,540 20
OAeIEERE| Y| 44 (1,560,000%) - 7|4 (1,540,000%) = 20
204 224iA| 27,480 27,240 240
02 ZZE=xH| 18,000 17,760 240
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Zd (155,000 x 2 x 12%) - 7|4 (3,480,000¢) = 240
207 G| 64,000 44,000 20,000
01 24| 64,000 44,000 20,000
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20,000,000¢ x 1A = 20,000




